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.     Comparing Two Populations    .
How can we answer our question: 
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I wonder if the weight of males tends to be greater than the weights of the females in the ‘blah’ population? 
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If we sampled and got these results:   
What can we conclude?
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Make an informal confidence interval for the population median of each group. 


Population A    

compared to 

Population B
Conclusion?

If the informal confidence intervals OVERLAP we CANNOT say that the population medians are different


.     Discussion of Informal Confidence Interval    .
Population A

Population B

Discussion of the informal confidence interval
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eg
Informal Conf Int for Y11 median school bag weights     1.2 kg ---- 2.8kg 
Discussion: We can be reasonably sure the median Y11 school bag weight for all students in NZ is between 1.2kg and 2.8kg 

Informal Conf Int for Y12 median school bag weights     2.9 kg ---- 4.1kg 

Discussion: We can be reasonably sure the median Y12 school bag weight for all students in NZ is between 2.9kg and 4.1kg 

Conclusion:  Because there is no overlap in the informal confidence intervals we can be reasonably sure that the Y12 (NZ) students school bags tend to be heavier than the Y11 students school bags.

Why is this wrong?

..... reasonably sure that the Y12 (NZ) students school bags are all heavier than the Y11 students school bags.

. Concluding Statements    .
Remember we cannot be definitely sure of our results. Why?
We can be reasonably sure that....

There tends to be.....

Assuming our sample is representative of the population we can conclude that...


Remember you MUST answer IN CONTEXT

What population, what variable, what does this mean?

Eg

We can be reasonably sure that population A is greater than population B  CRAP!!!
We can be reasonably sure that the Y12 (NZ) students school bags tend to be heavier than the Y11 students school bags.
 This is shown by the informal conf.......
(mathematical evidence with numbers)  

 This could be because....   




(possible reasons)

This reinforces what I thought .....


(comparison with your prediction)
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